
P hwi qy* lr+ +e z - J C ttla"r^ e?I'ts,tt;")

l* g*on ) a Sua g*.z- ho.s o r^ quq h'tl<

6 t-Ua ?-o^ F$,V,$ =o
Mov€ ?M"P su^Qa4'a'

t+ C rr.urt^( it I \\^uA V U*

)

{cy): or t{^-^
f4,A Swt[""z \
P q=KLt4 =KL(/ 14

*

^ 
\r" ? r^atut VA- +t4V)-t^

(t*:")
$rn y)

L



y Jt+*- Y

(

\

lyr ?""*d ] q gy\^Jt+ it 9.,,* VY L
pf,-^(?" 4,o cL{/w C i''t F ^'^A
'"ttvuo '(, rc'f N' P'

2-



C. Q.w*)ttt'c sr^,t b,nz<,

6rw^ U&- a,7""-Wlt. eTwqh"n M X,Y,L'

q. f*-Y3*
qL bL

sktLf^
Ix-y p la vtl

X-L+VI ^
*' b>

f
Y-z Ptoctu
(/\ zL
-t- +-?=
tc>

Ix-z P(M
XL,ZLj)_+ e:I

t pL.vr 

-ta'

v^ac€
7=o

rf t

eLl,rpsr

x=o

v

t/CI,cs M

4-\ -l I

47 I aIt,EriJ
a

.\

\\l'I

T

\

I 'l'o
.t

t'\ \ I
-- \-/

\
(

?4not 
J"i

,J

I

x.- V lwur!!' 3r d
(J

A*Y]:o
a> b>

vl- a l-rTatczUY:

V
x-e l-rourz

*:t
a>#.*=T\w



a#44 u-,a-t
f-5 \-rot,,cz

#- {xL :l

T-q.{:I tVItL\"'{o

K-a \'tr'tvcL
=-LT- {rL: \
3b .t
v-

ral *Z-J^f 

= 
t \?- 7@

VVVol,.,-lo'

alw



i

I

I

g rsc) 
Ur+ * -t* s -{

txt-$L-*-t
.f,rcrNg*:

X ) ys(n"u'

X

!

V,t frul)o^
rll
tnV 1p?z1L.o"Q -

f'

Lo o [a a't- fvouar
\ ^((^ fltqa0\ [= c^

- VL._ *- L-rtezUL

g2+*= afeLl
vd!

daK

s-



fy*"tt-rf:M
q + B-u-zU 1O --Lt-, 

I

X-J VurP' t66qt'rla^
,4u(b

!*> f6ulz '

+



\)-2
l,+/ e

?
h<a \)-+LV
//(, 

1

ba,atgv"s.

(x-4vlt L

7

€ "y [^t o-u-( L" r".A cwt^o( I

lr-^rt SeP-rt:

W,ri[-" /: + k'V)

A D o wqtut

Lt- $[x,C=
Do,rrrtgrivt l

{t\,0) : t

S(a,n: (-Oj:
^'F 

&('"^"1
l/z

+tr,,[ = (1'-r)'rl(9
N{q/: n-4yt-" o

x>\"lL
K='tv-

F/r)' lR
tl

n*!+i

So+ * -..\ c'' S"r,tatt*^

t6 3 scrrztr"9M
(o'> ,*^Llto)
o,r sj - -tCn Y,D r,

Y=\v>



B. 6r'*p l^" ,

s={t0

RI,JT'.ffi:**,
uur,{: {h'q) > e2.+ bg+A

ffiH it a*st,t/-eazev t* fp.

sy ]: CX-(,,lOtf-
R -> 21 - x-tVL

zt+t rlL: x
rpo(^1,, '["./

::Y^#,



Q^ Le*t C r,tr\l€s , (tn [.*,Q srM0-."") ,

t=+[r,y)
A t*d cwtuo 6 +tor,D
a(- t{,o vv^,\- +C&Y)=q

9% /:G-Ltyq?t
fulrr,L cw,,Ja'e' ) 7=o 

=: 
(

t\ a, c \l V r^€_

, -/' s --)/.1-L cw,lt- a- ,

/_*

v=z -

/t:O:
c: Cn-q,4!'o
c = A-ttvt 

,

N=\Y-
/:t:
L = Cr-.tyNta
x-tvt= t

tr> r(vt^ 
I

y'-]l
)-[n-qv{t{-
[:kt1t*T

1


